2021 KISS ESSENCE 9148 +EY0|/d=E HeE. X&T Lt

+EQ0 EXH

31p 30-2 Of2{0| A 8HM = forbidding -> forcing

35p W2 HE 24-1,2 / 33-1,2 =A] HHE

51p SE&M =28 =M sl 2X =M 7=

53p cofactors -> coactors

50| 24 H

7p interpre~ 3HM FHoj2| ME| AUE ZHME Sis ->

o
off

10p HE 1742 37

16p summary 3 '7|£0| -> 7|=2|

16p @EBHA 4, 58: 7|&9| -> 7|&0|

33p LEGHE 2 S| Ct -> —ISHC)

41p LEBHAM 18 MX|= -> MX]|

44p interpre~ LEFH H '?|7| £t -> 97|15 EZ

47p Interpre~ FTHM QOF FHM FTH A X -> ZF[ZET)

48p interpre~ 3 R9F OFX|8) 2| oY "RHHLO0A -> FHHL0HA!

49p interpre~ LEZ F7t 28 &M Sl4: (A) or (C) -> (A) or (B)

60p interpre~ 181 Q9 NHW| CHet ME| M E 'miscrocosmic -> microcosmic'

66p interpre~ 2 29 X|Z & = A 02| 5% cofactors -> coactors

88p interpre~ 21 FHAY THet oA 'EMX|0|A 7tEFD} O|ROZEE UR{LEA" ALK

91p interpre~ =MD 3,4 -> 16, 17

595 2NH

33p W2 HE 16-1 -> 16-2 7/ 18FH 3H -
37p 34-2 (4)0|M |2 SeEt7tEHA 2

59p 34-2 -> 34-1/50-1 3 -> 5

FEFE ENH

23p Comment F& 3H -> 2
= A

24p interpre~ 2 2% 7t 54 (A) or (B): OFX[TF &2 '(C)2] must also acceptl]' ->

'(A)2] must also accept@l'




27p 013

. lengthy 1. long

. tedious 2. X|£3t

. cognition 3. QIX|, QA

. compliance 4. =&, &

U N W N =

2
Slis
P
_}'o_r

. cognitive dissonance 5. 2/ X

6. (in)sufficient 6. (B)= 23t
7. justification 7. &M, Y3}

8. (in)consistency 8. (&)Y X|

9. decent 9. MHE 2, Mt}

10. payout 10. X| 2

11. dissonance < consonance 11. 223} « X3}
12. re-establish 12. 2| S 5tLC}, SSHCH

29p Comment 3 -> 4H

33p Comment 'F& ' StL} AK|

36p Comment BIZH0]= 289 -> EI7H0|= 3H

40p interpre~ =7t 22 i d: '(B)Q| theyZl' -> '(C)2] theyZt' / (A) or (C) -> (A) or (B)

55p Comment 3 32t2f -> S7+ 22}

69p interpre~ & O[O]A (B) or (C): 'H B2 YZ otCt="-> 'O M2 I E F&'

71p Comment H&A: =X -> 2T Y

92p interpre~ 2E MX| 2tH: Genes(off) -> Genes(A)

93p interpre~ A tHE 'RX| 57| -> '|X|5tEH= 7|

96p interpre~ 1% FH® T2 concede -> acknowledge /
QE2% A tteh vandalism -> damage

97p interpre~ QLEZ A CHEF S A FT}
S35} RESHE KEAHS 27HHO|BAME BojAx o2 23| KAlo] EL}

98p interpre~ LER FRHR CHE ME| IHE 'SHS LIHX|' -> '5H S M| 2o LIHX|'

99p interpre~ &1% OX|8F Et2F X|E spewing -> pumping out /
QEZE LHW Ch2h extract a toll -> create a cost, HZ| 121 create a costE HA

100p interpre~
1. ¥5 X THEf OpX|9) sl A "=, ~O|O Lt |7 /

2. RLEZ W HE oM FUh 24 Al Histoh 2AIE 2AUN/
dOHoM H2 o Fut 2 & 2E| A 220 DAHASO0| BSoh= 2 ALO[0| AL

3. {3 6~15H =AM HA

(L o
101p O1%] 5~12%H &=A HZE

102p interpre~
1. 25 R HE OIS 7IEA7I= A2 A SR ->
Ol2S ISAI7lE A2, OIM 2 o= Lt

)
2. 2% W B2 loom -> seem, AUE '@ £ F' > 'F| &

104p O3] 1~15H =X #ZE

52y ENH




p.20 interpre~ &% A CHEM'O|R2A > OO 22

p.31 Comment 'OtHEH -> "THO|' / interpre L EZ SITHQUACHE -> 'Y= HEIZ!

p.61 interpre~ =7t =AM S8 FO{Z = 'ARIAE) MA|Z OFR2|stD AL
-> 'S FZO| not 71l but At2| 2 KMAISELD UL

p.67 interpre~ 215 Si& O[O|M OHX|Y} =: 25 -> LEZE

p.91 interpre~ LEZ QE S| ALK

p.92 interpre~ Y5 MBR CHeF 2% 81 M FIh
This process is therefore also know as the rebound effect.
efA of Ipg2 't 2ifeta: e RUCH

1B

p.97 interpre~ & % oA AMH| 'The way ~ culture!, '"At2HS 0| ~BHFSBICH

A= >0
Ho

w2 |

O

o -
A 2% BT o4 ox|goz g1

™o

rr

p.98 interpre~ (A)

—~~ OF
__

p.101 interpre~ 2 2% (3)H 2% DHE MEMZ 3HOZ' > 4o =
p.103 O{ % 148 & -> "L ™ok




